Missing Numbers in Equations (A)

11-u=9

kx9=81

bx8=48

v—5=1

15+x=5

a—+3=

Find the value of each unknown.

4xd=12
8—1r=6
10—b=9
54+u=13
21 +-y=3
3+-d=1
28 +-v=4
15—p=6
6Xt=18
rx1=7

48 +u=6

6+d=10

t+4=5

vX8=16

13—p=5

4+p=5

21+f=3

2

4+ f

7—b=1

m+9=17

99X z=63

z+7=13

px1=2

y+8=13
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Missing Numbers in Equations (A) Answers

11-u=9

Find the value of each unknown.

10—-b=9

5+u=13

28+v=4

15—p=6

21+f=3
f=7

4+~ f=2
f=2
7—b=1
b=6
m+9=17
m=28
8—r=4
r=4
9Xz=63
z=17
z+7=13
Zz=26
px1=2
p=2
y+8=13
y=5

X Jj =64
j=28
g+3=5
g=15
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Missing Numbers in Equations (B)

3+n=11

c—3=4

v+4=13

7Xs=056

ZX 6=054

13-—u=4

w+5=13

9Xs=054

6 Xa=24

Find the value of each unknown.

9+t=15

18+a=9

5+4n=10

4+z=7

f+9=16

11—f=7

6+r=15

3+d=4

cx3=21

r+-=2=2

bX6=54

48+t =8

32+s=4

sX5=15

p X 8=32

42 ~-p=6

z—7=2

2+m=28

2Xb=8

4 xd=128

13—a=8
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Missing Numbers in Equations (B)

3+n=11
n=2_8

A
|
~

ZX 6=054
z=9

13—u=4
u=9

Find the value of each unknown.

+t=15 k—6=5
t=6 k=11
18+a=9 w=7=3
a=?2 w=21
5+4n=10 k—3=3
n=>5 k=6
44z=7 6+r=15
z=13 r=9
yX2=16 3+d=4
y=28 d=1
k+=7=1 X 3=21
k=7 7
5+-w=1 r+2=
w=5 r=4
f+9=16 bX6=54
f=7 b=9
11—-f=7 48 -t =8
f=4 =6
2+-m=2 32+s=4
m=1 s=8

px8=32

42 ~-p=6
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Missing Numbers in Equations (C)

mx5=10

x—4=3

ux9=281

v+1=6

t+7=13

cX5=15

6 Xt=48

35+-t=7

Find the value of each unknown.

30+-s=5

45+-g=9

27 ~s=3

3+t=6

72 +~u=28

11-b=2

sX3=3

12+n=3

8 X q=56

49 - s=7

8+a=10

gXxX2=2

r+5=9

n+l1l=4

y—7=2

3xg=18

81+z=9

b+1=3

45 +s=9

17—2z=9

rX7=56

xX7=63

nx2=12
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Missing Numbers in Equations (C)

S O

Find the value of each unknown.

30+-s=5
s=6

45+-g=9
g=>5

27 -s=3
s=9

sX3=3
S =
12+n=3
n==4
8 X q=56
q=7
49 - s =7
s=7
8+a=10
a=2
gXxX2=2
g=1
r+5=9
r =45
n+1=4
n=3
y—7=2
y=9
3xg=18
=6

17—2z=9

rX7=56
r=28

xX7=63
x=9
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Missing Numbers in Equations (D)

36 k=9
3xx=15
4+-t=4
u+-2=3
px1=3
q—8=1
s+=8=2
10—r=1
5—j=2
12—-g=28

Find the value of each unknown.

1+v=7

5+g=6

11—j=3

g+5=7

8+s=17

kx6=36

cX5=45

9x q =81

kx4=36

y+4=13

r+4=6

5xg=15

5Xxa=10

6+2z=8

4+qg=5

14 —-t=7

p X3 =24

16 ~-p=4

9Xa=054
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Missing Numbers in Equations (D)

Find the value of each unknown.

48+-g=8
g==6

12+g=3
q=4

q—9=5
q=14

5+9g=6
g=1

11—j=3
j=38

r+4=6
r=24
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Missing Numbers in Equations (E)

vVX6=6

ux4=32

z—7=2

t+1=3

vX2=18

cxXx1=8

40 +m =8

8Xw=28

Find the value of each unknown.

16 +n=2

74+z=9

s+2=9

k+3=7

6%j=18

dX7=42

s+8=9

9+g=11

5+k=12

3xXg=9

7+ b=14

k+2=8

dx5=40

44+a=12

8Xr=32

q+5=9

xX9=27
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Missing Numbers in Equations (E)

Find the value of each unknown.

6+y=1 dX7=42
y=6 d=6
y—9=4 s+8=9
y=13 s=72
16 +n=2 y+6=12
n=38 y==6
g+5=9 g+3=6
g=45 g=18
u—2=28 9+g=11
u=10 g =2
7+z=9 5+k=12
z=2 k=7
s+2=9 9—j=2
=7 ]:7
k+3=7 3xg=9
k=4 g=3
j=18 7+b=14
j=3 b=7
f—8=28 k+2=8
f=16 k=6

dx5=40

QU o
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Missing Numbers in Equations (F)

q+5=12

zX4=12

v+3=4

2+-t=2

b+4=8

Find the value of each unknown.

px2=16

1Xx=6

yX8=16

1xy=7

8Xr=72

7Xd=063

n+8=14

y+=4=2

mx3=3

11—-w=6

15—g=28

34+2z=28

I3IXu==6

6+m=12

p X 8 =64

16 —g=7

1xXn=7

10—z=3

40 +a=8

2+y=11

12—-7r=6

64 +2z=8
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Missing Numbers in Equations (F)

Find the value of each unknown.

q+5=12 pX2=16 y+=4=2
q=7 p=38 y=38
zZX4=12 5—a=3 mx3=3
z=3 a=2 m=1
6+-1r==6 1Xx=6 j+=9=5
r= 6 j=45
v+3=4 ~t=2 7—1r=4
v = t=3 r=23
y—6=7 yx8=16 11-w=6
y=13 y=2 w=5
2+t=2 1xy=7 q+-9=9
t= 7 q=81
j+8=2 6—m=5 15—g=38
j=16 m=1 g=7
9—-k=38 8Xr=72 3+z=8
k=1 r=9 =5
9+-b=9 7Xd=63 j+-6=4
b=1 d=9 j=24
b+4=28 n+8=14 3Xu=6
b=4 n==6 u=2

p+4=3
p=12
6+m=12
m=~6
p X 8 =064
p=28
16 —g=7
g=9
1xXxn=7
=7
10—z=3
z=17
40 +a=8
=5
2+y=11
y=9
12—r=6
r==6
64 +z=8
z=28
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Missing Numbers in Equations (G)

24 +-q=6

8 x p =24

qg+4=13

8+ x=15

16—g=9

r—9=4

9xp=27

54 +-q=6

8Xm=72

Find the value of each unknown.

y X 5=25

t+=1=7

v+-9=4

v+2=4

c+4=11

n+-6=3

7 +y=10

wX7=42

ux3=3

x—7=7

j—1=8

4Xs=4

t+9=4

p+5=13

y X9 =27

12+s=6

11—c=3

8xw=24
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Missing Numbers in Equations (G)

16 —g=9

r=13

Find the value of each unknown.

yx5=25 w X7 =42 p+5=13
y = w=6 =
1+-j=1 uxX3= y X9 =27
j=1 u=1 y=3

s=2 x—7=7 y+-4=1
s = x =14 y=4
+1= k—9=6 12+-5=6
=7 k=15 s=2
v+-9=4 j—1=8 11—-c=3
v =36 j=9 c=28
q—7=28 4xXs=4 8 Xw=24
q=15 s = w =3
v+2=4 b—8=5 r—5=3
v=2 b=13 r=28

4=11 t+-9=4 g—5=3
=7 t=36 g=238
n+6=3 q—7=2 6+j=2
n=18 q=9 j=3
7+y=10 f+8=6 5+a=7
y=3 f =48 a
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Missing Numbers in Equations (H)

8+r=17

3Xk=3

z—7=7

n+2=8

4+w=9

Find the value of each unknown.

s+1=9

9xw=18

px7=21

4 xXv=32

3+z=10

2% f=14

x+9=18

f+9=18

m+1=5

3Xs=18

r—3=1

rx9=9

7+r=16

zZzX7=56

8 Xv=24

6+-y=26

d+5=13

6+q=11

10+-t=5

t=8=3

6 X k=236

v—1=4

11—-x=8

3+j=11

2Xp=4
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Missing Numbers in Equations (H)

Find the value of each unknown.

8+r=17 =9 Xs=18 6+-y=6
r=9 =8 6 y=1
18 -y =2 9xw=18 r—3= d+5=13
y=9 w=2 r=4 d=28
p—8=9 pX7=21 g—2=7 6+qg=11
p=17 p=3 g=9 q=>5
b+~7=5 4 X v=32 rx9=9 10+-t=5
b =35 v=2_8 r= =2
3Xk=3 3+z=10 f—=7=7 t+-8=3
k=1 =7 f=14 t=24
6+-b=26 2X f=14 j+8=3 6 X k=36
b=1 f=7 j=24 k=6
w+8=8 x+9=18 7+r=16 v—1=4
w = 64 x=9 r=9 v=>5
z—7=7 f+9=18 8—z=1 11—x=8
z=14 f=9 z=17 x=3
n+2=28 m+1=5 zX7=56 3+j=11
n==~6 m=4 z=28 j=28
44+w=9 f—7=9 8Xv=24 2Xp=4
w=5 f=16 v=3 p=2
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Missing Numbers in Equations (I)

r+4=28

I1xXn=7

3Xn=18

kx1=4

24+z=7

q+1=3

6+w=9

r X4 =20

g+4=12

Find the value of each unknown.

z—8=4

63+r=7

7+z=11

Oxx=72

t+7=13

8xq=72

40 +z =8

SX7=42

35+-r=7

54+4n=13

2xj=8

r+1=3

k+4=6

18 +c=9

7+d=12

cxXx3=12

at+1=7

13—f=7

z+-6=7

44+w=6

c—1=2

yx9=81

w+3=12
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Missing Numbers in Equations (I)

r+4=28
r=4
I1xXn=7
7
3Xn=18
n==~6
kx1=4
k=4
8—u=4
u=4
24+z=7
7 =
q+1=
q=2
6+w=9
w=3
rx4 =20
r=5
g+4=12
g=38

Find the value of each unknown.

z—8=4
z=12
63+-r=7
r=9
74+z=11
z=4
OXx=72
x=28
7=13
=6
b—5=1
b=6
m+5=4
m=20
8xq=72
q="9
40+2z=8
z=15
SX7=42
s=6

35+-r=7
r=5

54+4n=13
n=2_8

18 +c=9
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Missing Numbers in Equations (])

17—-t=28

z+8=13

gXxX6==6

4xXv=4

10—r=1

5xd=40

y+4=11

Find the value of each unknown.

s+=5=7

ax3=27

wX9=27

13—f=7

10—qg=7

9+g9g=13

6 Xm =54

pX6=30

r—6=06

j+=7=6

c+8=11

7Xw=21

r+6=15

14 +~c=7

1xt=7

54+4x=6

9—f=8

t—6=06

j-6=2

12—-p=5

2Xg=6

6+q=7

54+4z=8

1Xx=8

63+a=9

7+y=12

t+7=12
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Missing Numbers in Equations (])

Find the value of each unknown.

s+=5=7 r—6==6 t—6=6
ax3=27 j+7=6 j+6=2
a=9 j=42 j=12
w X9 =27 8=11 12—-—p=5
w=3 =3 p=7
13—f=7 7Xxw=21 2Xg=6
10—qg=7 r+6=15 6+qg=7
9+g=13 g+5=3 5+z=8
6 X m =54 14 -c=7 1Xxx=8
m=29 =2 8
f—2=8 1xt=7 63+-a=9
f=10 t=7 a=7
6—w=4 5+x=6 7+y=12
w=2 X = y=5
p X 6=30 9—-f=8 t+7=12
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